
  

 

 

 

 

 

 

 

 

 

Answer any FIVE questions. 

Each answer should not exceed 300 words/3 pages. 

Each answer carries 7 marks. 

(5  7 = 35) 

1. J¸ ö£¸USz öuõhº Á›ø\°ß Akzukzu ‰ßÖ 

EÖ¨¦PÎß TkuÀ 
10
39

 ©ØÖ® AÁØÔß ö£¸UPØ£»ß 1 

GÛÀ, Azöuõhº Á›ø\°ß ö£õx ÂQuzøu²® A® ‰ßÖ 

EÖ¨¦PøÍ²® PõsP. 

 The sum of three consecutive terms of a geometric 

sequence is 
10
39

 and their product is 1. Find the common 

ratio and the 3 terms. 

2. J¸ ö\ÆÁP ÁiÁ {»® 20 « }Í® ©ØÖ® 14 « AP»® 

öPõshx, Aøua _ØÔ öÁÎ¨¦ÓzvÀ ^μõÚ AP»•ÒÍ 

£õøu°ß £μ¨¦ 111 \.« GÛÀ £õøu°ß AP»® GßÚ? 

 A rectangular field is 20 m length and 14 m breadth. 
There is a path of equal width around it having an area of 
111 sq.m. Find the width of the path on the outside. 
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3. ÷|ºUSzuõÚ J¸ ©μzvß ÷©À£õP® PõØÔÚõÀ •Ô¢x,  

A® •Ô¢u £Sv R÷Ç ÂÇõ©À, ©μzvß Ea] uøμ²hß 30 

÷Põnzøu HØ£kzxQÓx. ©μzvß Ea] Auß Ai°¼¸¢x 

30 « öuõø»ÂÀ uøμø¯z öuõkQÓx GÛÀ, ©μzvß •Ê 

E¯μzøuU PõsP. 

 A vertical tree is broken by the wind. The top of the tree 
touches the ground and makes an angle 30 with it. If the 
top of the tree touches the ground 30 m away from its 
foot, then find the actual height of the tree. 

4.    4,8,2,2 BA  Gß£Ú uμ¨£mkÒÍ uÍzvÀ EÒÍ C¸ 

¦ÒÎPÒ GßP. X&Aa]À (ªøP¨ £Sv) P ¦ÒÎ 

Aø©¢xÒÍx. Cx AB I 1:2 GßÓ ÂQuzvÀ ¤›UQÓx 

GÛÀ, P ß Aa_z öuõø»U PõsP. 

 Let    4,8,2,2 BA  be two given points in a plane. If a 
point P his on the X-aixs (in positive side) and divides AB 
in the ratio 1 : 2, then find the coordinates of P. 

5. m  sintan , n  sintan  ©ØÖ®  nm  GÛÀ 

nmnm 422   GÚU PõmkP. 

 If m  sintan , n  sintan  and nm  then show 

that nmnm 422  . 

6. 2425 23  xxx  GßÓ £À¾Ö¨¦U ÷PõøÁø¯ 

Põμo¨£kzxP. 

 Factories the polynomial 2425 23  xxx . 

7. 8AB  ö\.«, 15CB  ö\.«, 12CD  ö\.«, 25AD  ö\.« 

BQ¯ÁØøÓ¨ £UP[PÍõPÄ® 
90B  IU ÷Põn©õPÄ® 

Eøh¯ |õØPμ® ABCD ß £μ¨ø£U PõsP. 

 Find the area of the quadrilateral whose sides are  
8AB  cm , 15CB  cm 12CD  cm, 25AD cm and 

90B . 
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